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#include <bits/stdc++.h>
using namespace std

const int maxn=2e5+13

struct node{ int x,y
almaxn];/0000000000O0O
set<int>b[maxn];/000000000O00Oset logdOO0OO
int wimaxnl;/0 0000000

gqueue<int> ¢

int ans|[maxn

int flag/maxn

int cnt

int main

int n,m,u,v
scanf ("%d%d" ,&n, &m
int i=1;i<=n;i
scanf ("%d",aw| i
int i=1;i<=m;i
scanf ("%d%d", &u, &v
blul.insert(1i
blv].insert(1i
alil.x=u,alil.y=v
int i=1;i<=n;i
b[i]l.size wli
g.push(i
flag/iil/=1
g.empty
int now=q.front

q.pop
binow|.empty
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int
bla
bla
int

blnow!.begin
.X|.erase(t
.yl.erase(t
alt].x==now’alt].y:alt].x
lag ' k blk].size wlk])/OOOODOODOODODODODODOOOOOOO

- X + ~+

flag/ k
q.push(k

ans cnt =t

cnt<m printf("DEAD"
printf("ALIVE\n"
int i=cnt;i;1i

printf("sd ",ans|i

F BarelLee

O0000000%as0sb$0 00 0000%n$000000000DO0O0O0O0OOOO0O0O0ODOOOO0
O0000%a$0s%bs00 O%a<bsJO0 000 0%as00$a+1$000%2a$00 0000 OSSO OO OO
0o00o0oobobooobooooboooooOonObooobooooo

DO00BEEEE880000000%$0%$00000000000000000000I00000
Owinlil,O O OO0O0Oloseli]]J0 O OO win

e Jd0elO0O00OO0O0OOOOOOO0OOO0OOOO0OOO0O0OO0OOOO0OOO0OO0OO0OOO0
O0D00edODOO@OODDOONO)

O0eddddd

00 0$\frac{e}{2}<s$00s0 00,0000 00000O0O0O)
O003%\frac{e}{2}=s>\frac{e}{4}$,0 00000 OCO200000000)

000 %$s<\frac{e}{4}$0 000 0O OO O $win(s\frac{e}{4})$

goboooboo

e 000000000000 D020000000$\frac{e}{2}<s$,000000000000000
00000000 $\frac{e}{2}<s$00 000000000000 $win(s\frac{e}{2})$

gbobogoboooboobooobboon
gobogoboooboboooobood
gobooobooobobooobboon
oobooobobooobobooobobooon
OOo@oobooobooobooboooon)

goboooboobooobobooon
ggooooooboooboboooboon
uobbooobobooobobooon
gooooooo

ggoboooon
gooooooo
gooooood

gogodood gooooooon

#include <bits/stdc++.h>
using namespace std

CVBB ACM Team - https://wiki.cvbbacm.com/


http://www.opengroup.org/onlinepubs/009695399/functions/printf.html
http://www.opengroup.org/onlinepubs/009695399/functions/printf.html
http://www.opengroup.org/onlinepubs/009695399/functions/printf.html

Last

;823}3%/27 2020-2021:teams:manespace:codeforces_round_652_div2 https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:manespace:codeforces_round_652_div2

23:16

const int maxn=1e5

typedef long long 11

int win[maxnl;/0 000000000

int lose[maxn];/00000COO00O0O

11l simaxn],elmaxn

bool getwin(1l s,11 e)/0 00000 DOOODOOOO

e

S5%2

s-e
getwin(s, e

bool getlose(ll s,11 e)/0000000O0OOODO0O

s>e
getwin(s,e
int main
int t
scanf("%d", &t
lose
int i i<=t;i scanf("%slld%slld",&s i e/l
int i i<=t;i
loseli win|i
printf("1 1"
lose|1i win|i
printf("0 0"
loseli

win/i|=getwin(s|[i], eli
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lose[i/=getlose(s/i] ,eli

win|i getwin(s/i],el1i
lose[i|=!getlose(s|i] eli

printf("%d %d" ,win[t],6 loselt
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